Apartment in Dingli



Reference No: 240151100-109

Dingli, North



€415,000

Total Rooms: 6

Bathrooms: 2

Floor Area (m²): **156**

Bedrooms: 3

Apartment - For Sale - Dingli

DINGLI ON PLAN - Living is easy in this impressive, generously spacious Apartment. The open floor plan encompasses three spacious bedrooms with plenty of room for study, sleep and storage together with one main bathroom and one En-suite. The kitchen/living/dining area is spacious and opens up to a spacious front terrace with views while all three bedrooms have access to cute back terraces. Perfect for anyone, this home is ideally positioned to enjoy nice long walks along the limits of Dingli and Buskett. Truly countryside style living yet with close proximity to the village centre and all amenities.

Features

- ✓ Lift
- ✓ Water Utility
- PVC Piping
- Passenger Lift
- ✓ Pool
- ✓ Balcony

- Ceramic Floor
- Electricity Utility
- Skirting
- Double Glazed
- Terrace

Rooms

- Bathroom Ensuite : 2.27 x 1.83 m (4.15 m2)
- ✓ Bathroom : 3.02 x 2.24 m (6.76 m2)
- ✓ Single Bedroom : 4.72 x 3.03 m (14.3 m2)
- Single Bedroom : 4.37 x 3.06 m (13.37 m2)
- Single Bedroom: 4.7 x 4.32 m (20.3 m2)
- Kitchen/Living/Dining: 11.93 x 4.44 m (52.97 m2)

Gallery







Eric Grixti RE/MAX Edge - Attard

M: 79094765

E: eric@remax.com.mt

T: 21480164

RE/MAX Edge - Attard 4Triq Antonio Schembri, Attard, Malta